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PROCESS INSTRUMENTATIO
AND CONTROL

Paper : IE 605
Full Marks : 100
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer any five questions.

1. (a) Explain the importance of Process
Control in Food Processing Industry.
5

(b) Explain the following performance
parameters used for Measurement
Systems. 10

(i) SPAN

(i) SENSITIVITY

(ii) LINEARITY

(iv) PRECISION

(v) ACCURACY {e 2% for 0-10kg/cm?}.

Contd.
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() Reduce the Block diagram and
C(s)
determine the transfer function R—(g

of the system and verify with signal
flow graph. 6+4
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